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Read the passage and the following questions. 

Farmers growing crops for market, selling dairy product to the nearby city by transporting them, 

having mills to turn raw materials into finished goods. 

Q.1 What type/types economic activity they are performing 

A) only primary activity  

B) only primary and secondary 

C) only secondary and tertiary activity 

D) primary secondary and tertiary activity 

Answer (D) primary secondary and tertiary activity 

Explanation: Farmers growing crops primary activity transport tertiary activity mills to turn raw 

materials into finished goods is manufacturing 

Read the passage and the following questions. 

In many areas, Green Revolution is associated with the loss of soil fertility due to increased use of 

chemical fertilisers. Also, continuous use of groundwater for tubewell irrigation has led to the 

depletion of the water-table. Environmental resources, like soil fertility and groundwater, are built 

up over years. Once destroyed it is very difficult to restore them. We must take care of the 

environment to ensure future development of agriculture. 

Q.2 choose the incorrect one from the option given below 

A) over use of ground water can cause scarcity of drinking water 

B) modern farming is always beneficial  

C) fertiliser can degrade soil 

D) modern farming have not any environmental issues 

B) modern farming is always beneficial 

Explanation: modern farming use more water, fertiliser, pesticide which can be harmful 

  

Q.3 Read the characteristics of a system of government and choose the correct option 

Leaders keep changing. 

This leads to instability.  It is all about political competition and power play.  

So many people have to be consulted in it that it leads to delays.  



It leads to bad decisions.  

it leads to corruption for it is based on electoral competition 

A) monarchy 

B) aristocracy 

C) dictatorship 

D) democracy 

These are the characteristics of democracy 

Answer: D) democracy 

Explanation: These are the characteristics of democracy 

Q.4 How democracy enhance dignity of life 

A) it is based on equality  

B) it is based on electoral competition 

C) decision delayed due to discussion  

D) resources are distributed equally among the citizen 

Answer: A) it is based on equality 

Explanation it provide equal right to all in that way it enhance the dignity of life 

 

Q.5 what does the picture shows 

 

A) democracy for namesake  

B) actual democracy 

C) monarchy  

D) None of these 

Answer: A) democracy for namesake 

Explanation: Syria is a small west Asian country. The ruling Ba’ath Party and some of its small allies 

are the only parties allowed in that country 



Syria is a small west Asian country. The ruling Ba’ath Party and some of its small allies are the only 

parties allowed in that country 

India’s contacts with the World have continued through ages but her relationships through the 

land routes are much older than her maritime contacts. The various passes across the mountains 

in the north have provided passages to the ancient travellers, while the oceans restricted such 

interaction for a long time. These routes have contributed in the exchange of ideas and 

commodities since ancient times. The ideas of the Upanishads and the Ramayana, the stories of 

Panchtantra. 

Q.6 What were the consequences of connection with other country 

A) it closed Indian economy 

B) it restricted trade 

C) It provided new idea and technology 

D) none of these 

Answer: C) It provided new idea and technology 

Explanation: connectivity open the door for the exchange of idea, goods and technology 

Q.7 The population of France rose from about 23 million in 1715 to 28 million in 1789. This led to a 

rapid increase in the demand for foodgrains. This was the cause of  

A) joyful life 

B) increase in price  

C) decrease in price 

D) all of these 

Answer: B) increase in price 

Explanation: growing demand leads increase in price 

The eighteenth century witnessed the emergence of social groups, termed the middle class, who 

earned their wealth through an expanding overseas trade and from the manufacture of goods such 

as woollen and silk textiles that were either exported or bought by the richer members of society. 

In addition to merchants and manufacturers, the third estate included professions such as lawyers 

or administrative officials. All of these were educated and believed that no group in society should 

be privileged by birth. Rather, a person’s social position must depend on his merit. 

Q.8 Why could middle class lead revolution in France 

A) They were educated 

B) they were suffering from misery 

C) they were poor 

D) they hated farmers  



Answer: A) They were educated 

Explanation: education gives ability to think 

main demands was that women enjoy the same political rights as men. Women were disappointed 

that the Constitution of 1791 reduced them to passive citizens. They demanded the right to vote, 

to be elected to the Assembly and to hold political office. Only then, they felt, would their interests 

be represented in the new government. In the early years, the revolutionary government did 

introduce laws that helped improve the lives of women. Together with the creation of state 

schools, schooling was made compulsory for all girls. Their fathers could no longer force them into 

marriage against their will. Marriage was made into a contract entered into freely and registered 

under civil law. Divorce was made legal, and could be applied for by both women and men. 

Women could now train for jobs, could become artists or run small businesses 

Q. 9 women were disappointed because  

A) They did not have access to school 

B) they did not have political right 

C) They were forced to marry 

D) they had no economic power 

Answer: B) they did not have political right 

Explanation: political power is important to take decisions 

Q.10 The Revolutionary government was better in term of 

 A) providing food to women 

B) restricted women independence 

C) providing basic rights to women 

D) providing political right 

Answer: C) providing basic rights to women 

Explanation: Revolutionary govt. provided some rights to women to improve their condition 


